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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.
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SI unit of pressure is Pascal which is equal to - : ‘gt‘:f/.f/.f&_{./in“agf’&-_‘jggﬂ{u:ﬁ;l(‘/
)

1x10° Nm™> (D) 1x10° Nm™ (C)  1x10°Nm™® (B) 1x10' Nm™> ()

Global positioning system (GPS) consists of earth satellites : : gbﬁ&uJ‘WJ:)uK(GPS)("/u@JgJ/
26 (D) 25 (C) 24 (B) 23 (A)

Which of the following materials has large value : < dﬁu;&)&gJMpéj!jZS&{dﬁL/JﬂJ; SSies
of temperature co-efficient of linear expansion -

Aluminium axie oLt (D) Gold 44 (C) Brass (s (B)&@eel J:‘“ (A)

of a wire as 1.032 cm using Vernier Callipers. Up-to what extent d e with it :

A student claimed the diameter : uj[}p_ﬁaufc,u’!.; T.y}#}:ﬁ‘ﬂ . S@Dﬁ&t‘u’(c. (;ZJ/Q_(U\».Q
A= 1,082 em (D) HE= 1.03 cm (C) /"f/gg\ % (B) X5 1cm (A)

4

Actual value of latent heat of vaporization of one : ‘43 c,/l]fJinl»;;Jg(l/jgug{}/: 100 °C

kg water at 100 °Cis :
5.26x10° Jkig™' (D) 4.26x10° Jkg™! 2.26x10° kg™ (B)  3.26x10° Jkg ' (A)

% b s SOKm b
1C) 14.88 ms™' (B) 13.88ms™' (A)

50 Km h™" will be equal to
16.88 ms™' (D)

e Qs S s

Heat capacity of 5 kg of waterw i /
23000 JK ' (C) 22000 JK=' (B) 21000 JK™' (A)

24000 JK~' (D)

¢ ard . P .
A string is stretched by two nb(i]‘“:u.‘.’dnf_‘a 10N /’A;”JU(/;»gﬁ‘C‘LJl? lg':“(:;ud '/u’JL?ufu’/ﬁvp
equal and opposite forces 10N eaa dhe tension in the string is :
Zero # (D) 10N (C) 20N (B) 5N (A)

The mass of a body : cJb Kf)b_f'
Increases when acceleratedcg.tLym)g;{L/;c/"g (B) Decreases when acceleratedg_bigﬂ&z;/.:; )”gl (A)
Remains constant <4~ (D) Decreases when moving with high velocity c‘_r(gﬂg){$¢¢6105 7 (C)

If the velocity of a body becomes double, then its kinetic energy will : :Lﬁ)lu@'KJJ’}"L@nl}pr U:Jf)‘ﬁ
Becomes half c‘-di.gu_w (B) Becomes four times ‘Ld(‘a)’i%k’ (A)
Remains the same 9(3"/..‘»5;’/ (D) Becomes double .fr'.d(gr‘l:f» (C)

A force of 10N is making an angle of : K«M)_IJ"%UD}J! _93&:#/’{ 30° AL /—fi-x J/A..g&fx 10

30 ° with horizontal, its horizontal component will be :
5N (D) 4N (C) 8.7N (B) 7N (A)

In Einstein's mass-energy equation 'C' is the : ‘[—t‘/ﬁw 'C' u.fobl/&/'l-ul.gﬁj:bcff
-
Speed of earth é;du?.'} (B) Speed of electron %;JQ'J/"? I (A)
Speed of light .= (D) Speed of sound adinT (C)
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10 2. Write short answers to any Five (5) questions : . IO/ 4 /‘f L elly (5) ét = Jf <2

(i) Define least count, what is the least count of meter rod? "Ltfu:{ w4 éfw/u(.:; K (i)
(ii) Express 3200000W in kilo and megawatt <&, /w"ubb’zulﬁ/ 3200000W 4_ra_/dlm Yy (i)

by using prefixes.
(ili) Write two characteristics of physical quantities. -J .:«_l:vr“’ 2) uuw Jé'/’ (iii)
(iv) What is meant by banking of road? fe syt VAP S i f VCC" (iv)
(v) What is braking and skidding? fe ..f,& s s (V)

(vi) How can you relate a force with the change of "u‘é/fbc,d' ,va";’ ub' K u’u’ Z,/’ f ...A (vi)

momentum of a body?

(vii) What is the value of radius of earth? fe Y oed ‘,( J‘A/Ld’/ (vii)
(viii) What is a resultant force? fe LJ/ J/” oy (viii)

10 3. Write short answers to any Five (5) questions : J A 4 /‘f L ey (5) ét P Jf -3
(i) Define rotatory motion with an example. _Z,;Jl?'..ﬁ/ﬂc{ - /‘U/u’r’d 7o (i)

(ii) Differentiate scalars and vectors with examples. @ IS F v@v)uuw//ﬁmk‘ (ii)
(iii) What is kinematics? A e U oS 5¥ (i)
(iv) State Archimedes Principle. @ .._.é Uk J ¥ utgj’/l (iv)
(V) Define Young's Modulus and write its § % ?l( J1 s é _n//.’. J Ji;tug (v)
(vi) Can we use a hydrometer to measurgﬁh densnty of @ /‘;)L” u’" ;d/w»c_,uo(/ u,v (" U/(v')

3 -é i/ § it U (i

(vu) Define thermal conductivity. y 1 
(viii) How does heat reach us from the an’? @ J £ A e Ly =7 (Vi)
10 4. Write short answers to any Five (5) ..,Ui' /‘" L =y (5) ét = Jf -4

tg%t fforces’?"c.t‘/ *C)’L/ JL/(A‘” JJJK/"/}‘J}JJ < Ykt (i)

(i) How head to tail rule helps to fin

(i) What is second condition for ibrium? e U/ L/ S g “ /d)’/ 1 (ii)
(iii) Define centre of gravity. é’:/ J/" 14 U’:’/ ST (i)
(iv) Why ideal system doe exist in our daily life? oiz u‘”’ uf f"/ Jde U:u o032 (iv)
(V) Why are fossil fuels called non-renewable form of energy? ‘-’at‘blfu[ f;ig}l?td/u’ /LO:’J/ 2 (v)
(vi) Define kinetic energy and potential energy. -é - /“JJ /lMMJ /l..QdK (vi)
(vii) What is clinical thermometer? Write its range. 2 EE S U AL a5l (vii)

(viii) Convert 50 °C on a Celsius scale into Fahrenheit -Z:Jru"g}'cw[,u/b 50°C /J'CJVV (viii)
temperature scale.

(PART-II ()

Note : Attempt any TWO questions. o el £ ety »e 8 : e
4 5 (a) Derive a relation between force and momentum. -c{y’ l,l/d/u‘" uV/Jc’:f'Vf»kf/i () .5
5 ~E UL 1740 km UH KLl o | 62ms 2 u’)"-cﬁ-df”dyﬁi’&u (&)
(b) The acceleration due to gravity on the moon is 1.62 ms ™ . The radius of moon is 1740 km.
Find the mass of moon. .
4 2 Sy Mg fSdsl Sy () 6

6. (a) Define Pascal's law and write a note on hydrauhc press.”

5 (b) A train moves _,,Z(,L*'J»bu/&wi e G5FEE 10 = sS 36 kmh™t gLl (L)

with a uniform velocity of 36 kmh ™~ 'for10s. Find the distance travelled by it.

1,3 7. (a) Define equilibrium. Explain first condition ~£_.->u3(,(b/d'/d/(/d;l é..ﬂ/’(!f/d;(! () -7
for equilibrium.

5 (b) Calculate the power —g2 r#sbfog < (P FSb S 6 m Ut 10's 40 0 200 kg g fi (L)

of a pump which can lift 200 kg of water through a height of 6 m in 10 sec.
111-024-I-(Essay Type)-155000
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

12 LHP >34 12: A4S

£oiene S isi L 46317 LD 51 C B A xbizll Jiy &S

e 10ms T Lr$ULE Snui s eSS im VA LInse 100GV Akl

A stone is rotating in a circle in a radius 1m with speed10 m ~1' The mass of stone is 100 g.

The centripetal force will be :
100ms~" (D) 10 ms™" (C)

Lms™ (B) 20ms™ (A)

r

The range of clinical thermometer is :

".
20°C -42°C (D) 25°C-42°C (C) f 3°C-42°C (B) 35°C-42°C (A)

:c“_(}né/d/ ﬂ)’/?d-il-\:‘-lfz

The work done will be zero when angle between force find distance is : ZggJUUL//!LJ‘ 5/"J/}/f’ ZYSAK
180° (D) 60° (C) ~ 45° (B) 90° (A)
Which of the following is a vector quantity : - /‘..fs I § u:( 4
Power s} (D) Displacement .;f-‘l'/i (C) Distance 0 %@ Speed 4¢ (A)
(éﬂ_’J/J) O\\\i}
%@@B
N
m@( 2)
Kinetic energy of a body having a mass of O\j : gfmj./" 36 e Sms! ,_i,{;.’/s'ﬂ)j{ 22U LK()'J( 1151
and speed 5, s : '
12.5J (D 50J (C) 25J (B) 20J (A)
8! unit of thermal conductivity-i te 2 SIY C{_z,‘fﬂ J/; 6
Wm K (D) Wm 'K (C) wm K' (B) Wm 'K _(A)
Unit of momentum is : te 2K (2/}* 7
N5~ (D) 1R (€ Nm (B Ns (A)
The value of tan 45° is ‘e b ol tan 45° |8
0.707 (D) 0.500 (C) 1 (B) 0.866 (A)

surface of earth is :

JAR) e © - Y2 @B 29 (A)

The value of 'g' at a height on earth's radius above the _ : .f.&ﬁ{dﬂ:dﬂ/igﬁlz& i ufjifa}uf 'q'|9

Specific heat of water is : - d/ 5 e =7 J &L
1 gl = ‘ :
4200 JkgT'K " (D) 4200 Jkgk ™' (C) 4200 Jkg 'K (B)  4200kgJ'K! (A)

10

Least count of digital Vernier Callipers is :

e t‘ﬁ&i(%(%g{ﬁuﬁS 11

0.01 mm (D) 0.1 mm (C) 0.001 mm (B) 1mm (A)
Which of the substance is the lightest one : e udt e c)f 12
Lead ~+ (D) Mercury d/(/ (C) Aluminum r{:.l:' (B) Copper 6 (A)

112-024-lI-(Objective Type)-31250 (5476)
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10 2. V\_I)rlte short answers to any Five (5) questions : : E‘j (oI 4 /"f L =y (5) éL :.,. 2
i) Define | i ' s Vs ) i
(“ meft?a? r(e)as'l count. What is the least count of a ?c".t‘ﬂbfu;b/&f.:)%bﬂug -_é..é{/’d/;f'f?._w:’ (i)
§II.) Define base quantities and derived quantities. _é - /7 J S 3Pl e Sl (i)
(iii) How do the prefixes micro, nano and pico relate to each others??agj; Jwﬁl’éguli" :’/C/ L /gu’“/ (iii)
(iv) What is the relati Fu 1Y o d
e relation between force and momentum? ?‘g uL-' kf U L/.-l ¥ (5'/)’ 2 gad (iv)

. ' . < U/ 2 :.‘ § f <yl a

(vi) Write two methods of red oon, " _af "L/f’: z j&; ;/ ;:? f (V')

(vii) What is meant by gravitati ngth, & =l U Ly '..f)-z"&;!,z:kf‘/c.ﬂ.::’lbd/iu d.u.uﬁg }.;} ((\Xg
%@J",{fw}ﬁdﬁ (vili)

write it; value on earth
(viii) Why it is said that gravita a%orcells a non-contact force? ?le.:’/u
D

10 3. Write short answers t'o éﬁﬁive 5) questions : : 2? l’
(i) Define graph and writhits uses.  * 2y .
(ii) When is a body said to bem{t:q vu o =49

(i) Why vector quantities can not be added and 53 3 i
" subtracted like scalar quantities? Q/"ulg'd)u»'w}g) ()

(iv) If mass of 5 lit i i i ¢ 3 ! |
) itre of water is 5 kg, calculate its density. ..éf:f()‘" 3 ¥s u’LKdE_ﬂ 51 (iv)

(V) Define hydrometer and write its uses. _é LJ J‘ ! éJ/U /b'/) ’V& (V)
(VI) Why does the atmospheric pressure va i i AL 7 .J

ry with height ? t@ A«UX.C”[/Z: ,GL > jJ’ W (vi
e @ . 6 'ﬂ ® ﬁ‘/ ( I)

(i3
N

@@) £ S wuysi g i) -3
e spf & S gsS” (Vi)

oz Ly (5) b= &7 -4
& e ST ol ()
UL ST
L Lyt S wad (i)

(v) What is co-efficient of frigtion’s "

J! ‘.;Ié:( ..___a.I/J J ,'/ (i
e S ﬁjf (53

3. (vii) Define green house effect.
(viii) What is meant by convection cuy
10 4. Write short answers to a
(i) Describe resolution of
(i) Define centre of mass.

(5) questions :

(iii) Narrate name of states of equilibrium.

(iv) Define heat and electrical energy. -é‘{i: _.g{/‘." d/ S ﬂ}g! sz (V)

(v) Write two methods by which nuclear energy is released.-“é z f Jif 0 £ En b Y W)

(vi) What is wind energy? Write its Uses. &0 g’b*"*"l ¥ U S WG ks (Vi)

(vil) What do you mean by u;:per and lower fixed fe olp Ve JW 28 29 Ve Z /’fr} (vii)

(viii) 82??:: f;?et:f é'é‘:{‘l‘?‘%;on. : E S e F S sud (i)
(BAKCT BT { 4 A2 Loy »e J:( %

Note : Attempt any TWO questions. My 9 & U
4 5. (a) State and explain Newton's third law of motion -eéyu,c_.uimfgiuwm/: Kb (D) -5

with examples. T B
& rj“ytéuuc‘_o.oossn N wiﬁdz/yw&u)ﬁ,z4ysé1 m LAl gln (&)
(b) Ine'gravitational force between two identical lead spheres kept at 1m apart is 0,006673 N. Find
eir masses. . .
L i S e gy () 6

4 6. (a) ?plain in detail the;types of motion. &
SRy Wsdsitggeo3S 40N g g ‘§.zomm3gv,9Jf e gl dngr ki (2
f side 20mm, find the pressure on it due to a force of 40N.

ee forms -2’,6_'4)7/34(@&}?&&&}1 -;é..y/"&&)r i 7

(b) The head of a pin is a square 0

4 7. (a) Define energy and write a note on thr
of energy. " .
5  (b) Findthemagniudeand  -< SN y 12N woed X 6 tesiiduist (&)
direction of a force, if its x-component is 12N and y-component is 5N.

112-024-1i-(Essay type)-125000
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Note : Four: possible answers A, B, C and D to each question are given. The choice which you

thinkis correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
" Cutting or filling two or more circles will result in zero mark in that question.

S unit of pressure is"Pascal, which is equalto: e 4".‘:')1/.’/.()/’ !;ugJ)’C‘.-‘,F Q&;’K/’Zl{gﬁ J}‘."/"!("/ 11
10°Nm™ (D) 102 Nm? (C) I Nm? B) 10°NmT (A) ‘
| The orbital speed of a low orbit satellte is : D by i SIS JOHL |2
. so00ms™ (D) 800msT (C) gms™ (B).  zeo } (A)
| in solids, heat is transferred by : - ‘ _ : 4‘-';‘2}’ § el dl.i'l U rLzl u',;’ 3

" Conduction f( )‘f (B) Radiation cﬁ'-’dé; A
Absorption W%"/J (D) Convection dﬁ(/ (}3[&\

Which one of the following is the smallest quantity : . 3 <« 9@7 g L‘J’( e J." 3|4
15000 ng (D) 1001g (C) o 0.01g (A)

35°C-42°C (D) 30 _a°C (B) 20°C-42°C (A)

The range of clinical thermometer is : ' @ b 3;*: &, J }4;’; JKaaalS'|5
°C-42°C (C) %%SC?%
S}

Which one of the following unit is not a derived §lt<§£ - u’.’.‘/ =< b b L’J-’( e U6

watt o (D) Ne (C)  Kiogram ¢1/¥ (B)  Pascal FiL B
'. - - .— . ‘ N\ N . . _ ‘}c ‘f’...
On celsius scale, 300 K=7: L 300K=7 S LT
26°C (D) 25°C (C) 24°C  (B) 27°C (A)
How many states of equilibrium : ' | 1 u.’? b Q;( & unils
4 (D) 3 (C) 2 (B) 1 (A
A body has translatory motion if it moves-alonga: - <& t'f =I7 0 )" sfﬁ ¢ J..’L_,x-\-a-ﬂ\ ,‘3 pfy‘ J r) 0/ 9
Circle - _ Jeoshy (B) Straight line u-fﬂ.‘/ B (A)
Curved pafh 4:/.'//'.4" (D) Line without rotation. ;"4.:{ (©)

One horse power is equalto: - ;
700w (D) 750 W (C) 740W (B) ,  T46W (A)

5 e Os e sy Ut |10

Any number PSS (D) 4 ©C) . 3 (B 2 (A)

The hmiymber of forces that can be added by head to iaii'r{n‘le o c‘:.a:q.ﬁbgtfg};f”,”ﬂd//}'g:q,du&;&f 1M

the distance is :

180° (D) 90° )  T60° (B) 45° (A)

The work done will be zero when the angle between the force and . * c‘-t'yt,:b'uyuﬁ-,b b’u'u’/}.‘-’. (ﬂ}‘(f 12

1 1-Oil3-|—(0b]ective Type)-36250  (5473)
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10 2. Write short answers to any Five (5) questions : : b A2 /‘? L iy (5) a & Jf -l
.(i) Differentiate between base quantities and derived quantities. _ 2%, J/uf Ui 320 Ul Sk (i) ‘

(i) Define plasma physics. R ‘ A-’d! u,n,//‘." J Jg‘ L (i) ,

b i 1

- (iii) Write down two rules to identify the significant figures. @ Ut £ <S8 J Urwr A1 (i) i .
(iv) Differentiate between vectors and scalars. _ . BEIS-B) i (iv) '

(v) Define position. ’ @ ...y/’ tf u'aj‘;‘ (v)

(vi) Write down mathematical form of 3rd equation of motion. @ JQ QL’ J ohls § 5 J <7 (vi)

(vii) Write down two disadvantages of friction, & el L u% (vii)
(viii) Differentiate between centripétal force and centrifugal force. _2¥, J/dw.ovgédf‘e.’/ﬂu‘dd’.?dfr (viii) i |

10 3. Write short answers to any Five (5) questions : ol Y17 4 /‘(’ L iy (5) 5& r . J/ 3y

P

(i) Whatis a solar cell? Write down its uses. - 4 e Lo e l[ F A (i) !

(ii) V\llhy an energy saver lamp is better than an et A ud < hr:,’ S L .;.«43 Uls Lgf &A1 (i) il
electric lamp , . )

(ili) Define power. Write down its S| unit -E";(Q 1§ ur.gs 7 4 (i) f i

(iv) Define force of gravitation. @ ey J A 6{/ ST U2 (iv) ! :('

(V) What is meant by artificial satellites? Write down their@@ﬁd&lwl uang&’w&v (v) b

(Vi) Why does the value of ‘g’ vary from placgo place?% 2 On U).‘.( il £ U—%'; i =d d/ g (vi) :

(vii) Write difference between like and unlike pa S. ,ﬂ’ J/ ok y)} J’lﬁ .fuu.i 1l LY (vii) £k
(viii) Define centre of mass. » s e ST (viii)

10 4. Write short answers to any Five (lons : PNy A (5) 5& «df 4 L

() What is meant by elastic mi?_ (WO - |

(ii) Define density and write it . & & YK Ul S Ny S 6 (ii)
(i) Write four differences b étweeh solid and gas state of matter, -gu. /gg,t‘.'u'-‘r 3l J;; <A J b (iii)
—(iv) What is meant by intnergy of a body? '?"a :’/.Lf = Y/ Jj—'f J () uf (iv).
(v) Define specific heat capacity. : -g{ -4/." J o o7 v)

(Vi) What is transfer of heat? Write its modes. &l Z.{../’ LU S sl Ve eur JE& (vi)
(vii) Upon which factors radiation depend? k _. 99,{ J’lf S s U‘%’déj (vii)
(viii) Why does land breeze blow in the night? e Fud &L e Y ﬂ—J (viii)
(PART-IT (1) |
Note : Attempt any TWO questions. 4 ez Loy ne 3 ed
1.3 5. (a) Derive the second equation of motion with - el mfeTe o1 Ly () s
the help of speed-time graph.
5 "&1.:«/)/(}@’1;’&36/&.1?/ éé;bfc.é{d/ 3ms™! gﬂg}béd‘f;/SO cm :?)‘LJ Lr’/’;{ 0.5 (y)

(b) How much centripetal force is needed to make a body of mass 0.5 kg to move in a circle
of radius 50 cm with a speed 3 ms™! 2 3
4 6. (a) Explain any two states of equilibrium, -_é eolss e w5 S y{/d:f () e
5 (b) Calculate the value of 'g' at a height of - ..gf:/pl"‘of d g {u’ﬁhf 3600 km a(ﬁ,{uﬁ) (&)
3600 km above the surface of the earth. ‘ ¢
1.3 7. (a) Define and explain latent heat of fusion. -5‘,{..:2_(.5: /:l_...éj/‘.’ g d'; etz § 13 (...JI) d 5
5 Pl bl g 1.5 cm? LLEAL b5 0AS T8N ciﬁg_wu.g ()
(b) A student presses her paim by hertthumb with a force of 75 N. What would be the GBI
pressure underher:thumb having contact area 1.5cm*? V
111-023-I-(Essay Type)-145000
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‘_/.,.':t:,-—n.:.gﬂ\,nﬂ::-_‘:é,sibJ:J'r/:{(éb’dlﬁ -uj{:fc:-;D #CeBA :—',':?.'f/_l.gzvd"’ﬁ P
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Note . Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

»* 3 o
Least count of digital vernier callipers is : P 2 e A f‘-’( Y ‘_}*.‘{ 511 -1
1mm (D) 0.1 mm (C) 0.001 mm (B) 0.01 mm (A)
Amount of a substance is measured in L d" QL Nz J eit|2

Mole J»* (D) Newton /% (C)  Kilogram (l/)g (B) Gram (’f (A)

Which of the following is a vector quantity : te o s 5 of e Ut S |3
Power sst (D) Displacement ¥ (C) Distance <6 (B) Speed 4% (A)

Inertia depends upon : te b A K
Velocity u" Us (D) Mass Jb (C) Netforce JJ! L b Force Ju’ (A)

N

<& te 2K e|5
) 28

Nm* (D) J(© 07 Nm (B) N (A)
Moon completes its one revolution around the earth i %5 e 74 74 ,€ L G S L ek '3 6
¢) 27.3days (D) ¢ 31.3 d/?y@; 2 29.3 days (B) ¢ 25.3days (A)

=

The unit of torque is :

The value of 'g' on the surface of sun i fe A ed '9' ¢ 5/ § er|7
9.8ms™ (D) 2m? () 25.94mT B)  887ms (a)
Msto ol oo work b catled s - AN NPWESA:
Momentum (‘*';’ (D) Power 54 (C) Torque ot (B) Energy 5./ (A)
In SI unit of stress is : te K A e
Nm (D) Ns (C) Nm™> (B) Nm™ (A)
The specific heat of glass is : e Os v a7 § Sf]10

900 Jkg 'K~ (D) 850 kKT (C) 845JkgT'KT' (B) 840 Jkg'K (A)

In gases heat is mainly transferred by : e < K w7 J&1 2 wbi e /1{ 1
Conduction ‘f( Z (B) Molecular collision 5'%(/;?& (A)
Radiation cf&-ld;:/ (D) Convection u:{/ (C)
Rate of flow of heat is : e U/ Sl =nr|12
Q 2
£ o e © 0" xt () 0t
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PHYSICS (V) Jiclerj - 023 oS5
Paper [ (Essay Type) ( 7;/ ) G “—""E“‘“"") 1: 2 4
Time Allowed : 1.45 hours 2'1'45 /‘-3,
Maximum Marks : 48 ( PART-1 J¥# ) - 48 -z
10 2. Write short answers to any Five (5) questions : 4 AR /7 L iy (5) &5 e df -2

(i) What are prefixes and give two examples. - J-"C‘» » ol Ji ‘:( /6 Jg 0

(ii) Define least count of vernier A ap $eed Sesvadl i k{ Fnihi ] assfadl 24 J-fﬁ” (@i
callipers and write value of least count of vernier callipers in centimetre. . . B
- £ S e )

(iii) Define plasma physics. . i .
(iv) Differentiate between scalars and vectors quantities. -é O/ s Ui //gx »; ,L,&..’- (iv)
o 2 U L e £ UDAR T (V)

(V) What do you know about LIDAR gun? i _
(vi) Define uniform acceleration. -.é 2/ J o S (A (vi)

(vii) State Newton's Third Law of motion and give one example,_i;::d&.ﬂu'é{uyUJF'/.;'KJYLJZ (vii)
(viii) Write two methods of reducing friction. & &) ”,,L S [ I A (viil)

10 3. Write short answers to any Five (5) questions :  : & iz & L =Uly (5) é& &
(i) Define stable equilibrium. Ay S wi? zx v ()

-3

(ii) What is first condition for equilibrium? ) fe Ty d{ J A8~ (i)
(iii) Define clockwise and anti clockwise moment. -.;;:" -/ S e '/'b:.flf&" s s JSE (i)
(iv) Define geostationary orbit. -é": -/ g oY g2 (iv)
(v) What is meant by satellite and natural satellite? e ly UV A Bl sl A1 (V)

(vi) How the value of 'g' varies with altitude? fe Ur J# ALyl g (vi)
(vii) Define biomass energy and geothermal energy. ¥ iJJ}lJ/.':f 1 GAJELL (vii)
(viii) What is meant by power and watt? o < oly Lf = s sl sl (viii)
10 4. Write short answers to any Five (5) question % L O 4 /"? L =y (5) ég & Jf -4
(i) Define density and also give its Sl unit. S L( <Y SILE U1 ol & .g/'" J ﬁ.? (i)
(ii) State Pascal's law. @ - Uk I ¥ J/’& (ii)
(iii) What is meant by elastic limit? @ feoly l_f = s L (iii)
(iv) Define volume thermal expansi L& .;j/‘." S5 Qa7 £ r,,J_l, (iv)
(v) Convert100 °Finto the te re on -5’::’./ J. i‘ﬂg}:c el ;2:/;" 100°F {g}:cd.:’}chb' v)

Celsius scale. = \ .
s not take place in gases? ¢ dr gﬁ’ u[ «fr g J <A77 A uff (vi)

(vi) Why conduction of heat

(vii) Why does sea breeze blow during the day? fe. 7 ud & Lo F (-) (vii)
(viii) Write down two uses of insulators. & oy » L ))_’;Jl (viii)
( PARTIT oo )
Note : Attempt any TWO questions. ..Z‘_‘r (O 4 Loy ve Jf td

v I 1 g
1,3 5. (a) Draw speed-time graph and -é-':.él S=vt +-2—012 .:,l,pd/,,J_-f/,,;é_h_yf(e_g (W) .5

1
derive second equation of motion S =V, +==af ¥
-~ 2 -
5 ot nPSUAFL Lo bl P posre FIHE 2ms 2 p -« 20N s fi (L)
(b) A body has weight 20 N. How much force is required to move it vertically upward '
with an acceleration of 2ms 2?2

4 6. (@) What i; center-g,{ = o ?gj_,'L/(:""é.( Q;/J Tf';’f.;{é.’;wﬁ(__.—_ﬁ ‘-'q..:'/l[r_d:z'/.il'f" () -6
of gravity? Explain how do you find the center of gravity of an irregular shaped thin lamina.

5 -SE NS LU - T 6 m et A T3 20N T (L)

(b) A block weighing 20 N is lifted 6 m vertically upward. Calculate the potential energy stored in it
4 7 (a) Explain linear thermal expansion in solids. e a5 dﬂ/d:*’;,ﬁrlzu:; (G .7
5 -g,’-.'(:“‘uu’lmzrv':g/.éfg 8mxSmxdm _< 1. 3kgm™ FHe (L)

(b) The density of airis 1.3kgm 3 Find the mass of air in a room measuring 8m xSmx4m .
112-023-1-(Essay type)-110000
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PHYSICS (Juf( ) - 022 ){)s
Q. Paper : I (Objective Type) PAPER CODE = 5477 (J}’u“"é/’ YL gy
Time Allowed : 15 Minutes (s ) o 15 &

Maximum Marks : 12 U"R .4/-»_ 12: AF

Lo tf./m—_Ju,/uéc_:a_védwf/db’dw gL E D s C B A bzl g o o s

—Kﬂ/!‘jbk\_/'iﬂl’cvww/ﬂ(;é—// Jok ! L/Ju:/butj:_..f i:/c_.u’t//l.//b.dafdw
Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Racing cars are made stable by : : J U &tg &L-f. Y& u:/K .@,4 1 -1
Decreasing their mass L/{JL (B) Increasing their speed /szig.:.’ (A)
Decreasing their width L/'?GUZ, (D) Lowering their centre of gravity L/’/ Cﬁg_’//.il’/'." (C)

Water freezes at : L bl of Su g /5-/:‘ J &g 2

0K (D) 273 K (C) 32 °F (B) 0°F (A)

By dividing displacement of a moving body with %tﬂ“baL/ﬂzhﬁ’fwéf)’JﬂJf 3

time, we obtain :

Deceleration (455 (D) Velocity JUs (C) Acceleration ¢24% (B)  Speed i (A)

The energy stored in a dam is : %@ Ny -SA~ dL L £l4

Potential energy u’/'lf’*’;’ (B) Ele trl@energy J/Ué/d, (A)
Thermal energy  $/1J# (D) @10 energy G/EdE (C)
In gases, heat is mainly transferred by : @ te o K el J&I 2wl /’:r 5
Conduction L/"(f«f %5 Molecular collision ﬂfﬁggt (A)
Radiation "ﬁ""é\éés Convection ui{;’f (C)
Which one of the following unit is \rerived unit fe uf’ Ly 58l A% uf = |6
Watt 215 (D) % (C)  Kilogram ¢S (B)  Pascal FL (A)
A force of 10 N is making an™ Krwrfu"’lﬁ,o:’ul -Lau,,w 30°5Lf£./fl-x viaLi S 10(7
angle of 30° with the horizontal. Its horizontal component will be :
8.7N (D) 7N (C) 5N (B) 4N (A)

Which of the following is a vector quantity : @ /‘.{: S (§ u/ = Jjj.y/x/ 8

Power .5\ (D) Displacement m (C) Distance .»i (B) Speed 4= (A)

The orbital speed of a low orbit satellite is : P 3% ,:u; J i../ J)j J s Lot éj. 9

8000ms™" (D) 800ms™' (C) 8ms™' (B) Zero 4 (A)
Which of the following {_@@n[ﬁu&w[.ulc,zfjuyu[.u}/dl:L/l’W/J}f«/cufJJg/p 10
material lowers the friction when pushed between metal plates :
Oil J’/T (D) Air sz (C) Fine marble powder Ang//..é (B) Water &g (A)
Which of the following material has large specific heat : : < Jo ¥ oy a7 31 J_}f Lo |11
Mercury §./7 (D) Water Jg (C) Ilce iz (B) Copper 4§ (A)
In which of the following state molecules do not leave their position : ILJEJ&J{Q’)&LJ&EJQ/&A 12
Plasma s (D)  Gas ¥ (C) Liquid &t (B) Solid ¥ (A)
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PHYSICS (V) - 022
Paper : [ (Essay Type) (:d/ﬂ-{';) Gobaulan) 1 24
Time Allowed : 1.45 hours M,?P» & 145 0
Maximum Marks : 48 PART-1 Ji ) 48 /J(
10 2. Write short answers to any Five (5) questions : . o 87 4 /‘." L =y (5) ég & Jf -2
(i) Define prefixes and give two examples. -z JZJC‘I Y "é ...y/‘" d /Gd{ (i)
(i) Differentiate between rest and motion. ..59._‘: “//; I/ c;/ s &2 (i)
(iii) Define force and write down its Sl unit. el <y SLE U1l é ..g/." J Jus (iii)
(iv) State the law of conservation of momentum. -é Wk U6 ¥ g-/"iu'f"/ L (‘*’;‘ (iv)
(V) What is meant by base units and derived units? fe slp V= J‘}j 520 sl J‘}j Sl (v)
(Vi) Write any two differences between mass and weight. L&l G e J:f e s sl L (Vi)

(vii) Define random motion and write down one example. _& Je .._Q 71 é .y/7 J cfr (i:f,/ (vii)
(vili) Write down the S units of temperature, Laf J}j Sl [.@L;J}‘?! sl :.‘)/J}‘?’ s (Vi)

electric current, force and electric charge.

10 3. Write short answers to any Five (5) questions : i £ = /"f L =y (5) ég & Jf -3

(i) Define torque and moment arm. & wwrd T s il Sk (i)

(i) What is meant by plumb line? fe ol Lf = U -y (ii)

(iii) What is meant by geostationary orbit? fe sly gf e T d/"::’ 22 (i)

(iv) Describe law of gravitation and Newton's third law of -éugu j "Kjfﬁfxﬁmuiﬁ' K(f-“dg/ (iv)

(V) Hrgcsj\:lshné value of 'g' varies with altitude? e (})’ g C/’ ‘/ o L Sk c:«{’. J 'g' (v)

. , _ _ ; & . .
(vi) Define work and its SI unit. o §.£ - J 2y SI L Ut s (vi)
(vii) Define biomass energy and geothermal energy. @%-J .xg/‘? 1t S J/?;;’ s G JUEL (vii)

(viii) What is meant by power and watt? e oy l:( e &y sl sl (viii)
10 4. Write short answers to any Five (Sgﬁons : : ﬂ =2 /"" L =y (5) ég e Jf -4
ith height? e tesud AL ik 2 1 (i)

(i) Why does the atmospheric press
SEE ok wE ¥ (i)

(ii) State Hook's law.

(iii) Define pressure and wri -’&6 U6 8 I 5 - J ﬂ{ (iii)
(iv) Differentiate between temperature and heat, -éi: Uk O K a7 S ed (iV)

(v) Define latent heat of fusion. _hé ._9_1/7 d/ =7 d; d/ 5%{ (v)
(vi) Conduction of heat does not take place in gases, give reason. -.éuy...» rt‘nuf‘ij?yyﬂd:‘ < (vi)
(vii) What is meant by convection current? T sy \f e oS g (vii)
(Vviii) Write two uses of good conductors. & = UE gy L J/’CU/ Z=1 (viii)

(PART - II p),v)
Note : Attempt any TWO questions. &L ez £ ety e Jf Y

1,3 5. (a) Derive the second equation of motion with ..g.;-(l}':J;L/d/»d/&(]c.,ud/..ﬂ/ﬂ‘-é{ (W) .5
the help of speed-time graph. )
ul_/wﬁ//..ﬁuldﬂj ?aniﬂu’f/’uwéJ}d’lé//.,ém_fuLdﬂéuw/)’s ()
5 - 0.6 =d S aTe
(b) How much is the force of friction between a wooden block of mass 5 kg and the
horizontal marble floor? The coefficient of friction between wood and the marble is 0.6.

1,3 6. (a) Whatis meant by kinetic energy? Derive its equation. <% ishelsls(fs! ?;.:ygfc,&;'v@éb’ () .8
5 et 20N wand X Knde G S 3K 30° AL Kix 45 (L)

(b) A force is acting on a body making an angle of 30 °with the horizontal. The horizontal
component of the force is 20 N. Find the force.

4 7. (@) Derive an equation for the pressure at some -"d:.fié'.:ht/éj_ﬁ/f.{ﬁdl.{éyfgfgﬂédt () 27
depth in a liquid. - ’ S, _

5 (b) How much heat is?u(x/K/ufﬁf'u’(d/;ﬂ/é).LLL@‘/..f 65 °C 10 °C /;/;/Kdgﬂ/)‘ 0.5 ()
required to increase the temperature of 0.5 kg of water from 10 °C' to 65 °C?

111-022-1-(Essay Type)-145000



(12021-2023 t 2018-2020 ¥ W S 4o ool .
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Q. Paper : I (Objective Type) PAPER CODE = 5476 (J)’u‘.‘;/' )1 2L
Time Allowed : 15 Minutes (i) e 15 Dy

Maximum Marks : 12 WR .42_.2)_ 12: A8

d_/..',b?:/ﬂc.J:L))//lJZé_Jé’_L/LJV/;{QKL}’:? -u}éé.:D »sCe«BcA o@’ﬁ;@__lg&d‘r/: Py
-gijﬁwylﬁozﬁgj::,/:‘u(é_///: Jok L L/Q}’Z)J/’bu.lz}c,ug ‘g';/i”c,uf'k/ju/u//bﬁwawf

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The number of perpendicular components of a force are : e [Sn i JJ’"}! G L /—5 J( 1 -1

4 (D) 5 (©) 2 (B) 1 (A)
Density of a solid can be determined by equation : < (3(? J ()V e bl (§ ;5 J u’f“ u’( 2
D= Fxp o) D= xp (g D= Mp gy D= M
WZ ~—WI WI W] ===t Wz VVI == W2
Value of 'G'is : e od J 63
6.673x107'" Nm? kg™ (B) 6.673x107" Nm? kg (A)
6.673x10"2 Nm* kg ? (D) 6.673x10 "' Nm® kg (C)

O 5 &
A change in position is called : @ S’ u{#" oA WL;’ 4

Distance i (D) Displacement :./‘*J‘/; (C) Velocity q\’%@) Speed 4» (A)
Value of 'g' increases with the < P e Y el Jg'ls

Increase in altitude < &2 %(<k (B) Wmass of body c'&‘/.u‘l.l((‘/" (A)

None of these ufu’{éfc,uful (D) ase in altitude c_é_nﬂijJz (C)
Rooms are heated using gas heaters by &3,31;, Ul L (/ﬁ f = Je £ by Jf 6
Convection and radiation Jdi e e (B) Conduction u;r/ (A)
Convectio JE (D) Radiation ¢#I$, (C)
Which of the following is the L\IFI{ of momentum : e 2y ¥ (""/y‘ e L S |7
Ns~' (D) Ns . (C) Kgms * (B) Nm (A)

Newton's 1st law of motion is valid only : ;.thUb!Kuﬁrgjib“gLJ;éuiLf;ﬁf/f&/cui'Jjgjp 8
in the absence of : )

Momentum (b:""? (D) Friction uy; (C) Net force (Judes (B) Force Uv# (A)

First condition of equilibrium is : Le bp &S EAski|e
G =0 (D) W =0 (C) >F =0 (B) >r=0 (A)

Normal human body temperature is : - /}/:,} ¥ K’Ju’r A{-.:»" L k|10
98.6 °C (D) 37T°F (C) 37°C (B) 15°C (A)

A measuring cylinder is used to measure : te b U e e ik J{V, 11

Level of a liquid J2¥Ziy” (D)  Volume ¢y (C) Area l// (B)  Mass Ul (A)

SI unit of work is : e 2 SIE i |12

Kgr# (D) Joule J2 (C) Watteh (B)  Newton o (A)

112-022-1I-(Objective Type)-27500 (5476)
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PHYSICS (Ui ) - 022

Paper : 1 (Essay Type) .,,;/l/» ) (e apslant) o
Time Allowed : 1.45 hours LH "‘-'u 145 ¢ oo
Maximum Marks : 48 ( PART-1 J3l ) 48 /J(

10 2. Write short answers to any Five (5) questions : : &U Y 4 /:" L =iy (5) ég P~ é:( -2

(i) Differentiate between geophysics and plasma physics. __é Z ; 3/ A ‘/y'mg 21 J(/,»;’ (i)

(ii) Define acceleration and write down its SI unit. & 2y Sl U g‘i: .43}]7 d/ oo sl (i)

(iii) State Newton's second law of motion. -{::/ Uk WG L ¥ gy € o (i)

(iv) Write the number of significance figures in each case : ; ’46 JIAJJ Ura (71 S .,Q 7z (iv)

(i) 275.00 (i) 0.027 ‘ ,
(v) Define base units. Write down the base -e?&gd:g:&&/.f}?w}/;‘ -.é.g/"&/}jd)y (v)

units of temperature and electric current. . .
(vi) Differentiate between circular motion and rotatory motion. -2,6 9 Syl YW RV }/ (vi)

(vii) SlI unit of force is newton. Define one newton force. -g‘l:(_g/."d/u’ziu’xvﬁ -‘LJ}:’:JJZ Sl KJJ;’ (vii)

(viii) Differentiate between rest and motion. -é bk J/ U gf}‘ &2 (Vil)

10 3. Write short answers to any Five (5) questions : : é ) 4 /‘" L =y (5) ég & Gf
(i) Describe like and unlike parallel forces. -é Jk s 79 JJIA‘- .fl}u? P (i)

(i) What is meant by rigid body and line of action of force? ?c"‘_.')’/l_{(a,dj;’_) Tuig I TS 3 s (i)

(iiiy Why are vehicles made heavy at the bottom? Ut d}g u.ef Yo u‘x.( = 5; ULIE (i)
(iv) Why we can not feel gravitational force around us? ?ifu:‘.(f/uxr u’zidﬁd,ﬁ/ /0 &) ¢ (V)
(v) What is meant by gravitational field strength? S oy e = J i{,’ ‘p.::.._\‘sdg/ (v)

(Vi) What is the difference between artificial and natural satellite? . S a0 st S8 (Vi)

(vii) Define work. On what factors work depends? febyiy i 3 1§ o -.'é -2 /-" d/ s (vii)

(viii) Describe Einstein's mass energy equation. o k ) el S Ut J J’ Ltacf T (viii)

10 4. Write short answers to any Five (5) questio % . o 4 /":" L =iy (5) é!; & Jf
(i) Define principle of floatation. LS Yk UMK L7 ()

(ii) Why is water not suitable to be used in 2 .@ eter? ?t‘ngﬁ;u:)/u[t/vwid 3y fdg (i)

(iii) Why does the atmospheric pressur ith height? e t"gd&u{jtzéid,«i/igb&é:wi (iii)
pansion. -“é Wk Gt 6 5UZ£ Q7 (iv)
(v) Differentiate between te re and heat. -.:f,;f Wk 3/ Ll L oog Z»/,‘.' (v)
(vi) Why does thermal flow from hot body to-cold body? Se— G U J}’J&,ﬁa‘rg,r’rf&iuj} (vi)
(vii) Why conduction of heat does not take place in gases”? w74 uf."' u::.( ‘ff ¥ S 0 /:r/ (vii)

(iv) Write down applications of th

(viii) What is green house effect? ‘e s e Ji e/ (vii)
(PART-I1 po.e ) .
Note : Attempt any TWO questions. <& =R Loy ve Jf O
1,3 5. (a) State Newton's first law of motion and -;éyum_uJuﬂ'wm“éuguiw,gKJrKJx‘ ()
explain with the help of two examples. )
5 Sl 15ms ™" St 58 SV e § ST §1§ 30ms™ L ()

(b) Find the retardation produced when a car moving at a velocity of __é p"’ ﬁbl},/ ¥ ¢
30 ms ' slows down uniformly to 15 ms”'in5s.
2,2 6. (a) Explain the motion of -“éléwntsK,Q;‘Jui.._f,;éuﬁjuié’;fyu:JJKJJ"’/l}?fJi” ()
artificial satellites and derive the formula of orbital speed near earth.
5 ce 5N ey u 12N wadx (e bemid b ()
(b) Find the magnitude and direction of force, if its x-component is 12 N and y-component is 5 N.
1,3 7. (a) State Pascal's law and explain hydraulic press. _gf_vu,JuQJw‘gp,rg{uwinf& ()
L3t G JB) g pty 30°C S S iy 0°C 2L ol ()
5 (b) Abrass rod is 1 m long at 0°C . Find its length at (e 1.9x107°k™ &»EJMJJJJK
30°C" . (Coefficient of linear expansion of brass = 1.9 x 107k
112-022-1i-(Essay type)-110000
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PHYSICS (Vi) - 021 oS58
Q. Paper : I (Objective Type) PAPER CODE = 5471 (J)’d",/’ Y1 gy )
Time Allowed : 15 Minutes (.7:/@;;) < 151 =
Maximum Marks : 12 AMNR.G1-2) 12: A8

vaﬁuﬂc_—ufuﬁbéé_:&Lréd'r/; £ (_é( (}UZ vugéZé_;D » C'BA o&’ﬁ;«@_lgéidlr/; o
_Kn/r“jbl&u‘iuﬁu*uzﬂp(i_//’ ek 4 L/(;fu:/but/cf.f ’Z’_’)/c.u;t/l./f':)b'?&'w

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer- book
Cutting or filling two or more circles will result in zero mark in that question.

Which one of the following is the smallest quantity : : < d:‘.’: & o IS uf e S Sits|l -1
5000 ng (D) 100 £g (C) 2mg (B) 0.01 g (A)

A change in position is called : " e JM J:,g;‘ 9 ﬁj{_’ 2
Momentum ("""r (D) Displacement a,/:"/;‘ (C)  Velocity U"U’ (B) Torque ot (A)

Inertia depends upon : te bw A K g}ji 3
Velocity S5 (D)  Mass UL (C)  Net force o’ (B) Force U? (A)

The number of perpendicular components of a vector are © < dr s JJ"?/J;/L/;J( 4

4 (D) 5 (C) 2@ 1)

Earth's gravitational force of attraction vanishes at : Léqg Al u’u’ J’” d,'/ J K|9S
%% 1000 km (D) ¢## 42300 km (C)  Infinity /%@(B) 24 6400 km (A)

If the velocity of a body becomes double, then |ts%§g & /!VGGKJJU@bA«CJ‘f U:J/) u);'/ 6

kinetic energy :

Becomes double c_d 6o §B§>§ Remains same c.u”JJf (A)

Becomes half c,d(a Becomes four times c_d(orbﬁ

In SI, unit of pressure is Pas@hlch is equal to : : c‘_tn/.ﬁx.,m‘gg}{’g:fgﬁ./vuiﬁfi(“/ 7

10° Nm™ (D) 102 Nm™ (C) 1 Nm™? (B) 104 Nm? (A)

Which of the following material has largest specific heat : ; %JVK})‘%‘&/’]HQ/’J Hlyd |8
Mercury §/7 (D) Water 3¢ (C) lce iz (B) Copper £ (A)

In solids, heat is transferred by : | AP ez Ji Ll U |9

Absorption ¢/#1% (D) Convection S5 (C) Conduction % (B) Radiation 2154/ (A)

Rate of chaﬁge of momentum is equal to : DUt ;{ U 14 J:J,w" 9 (‘)“fr 10

Velocity $1s (D)  Distance =6 (C)  Force U2# (B)  Torque St (A)

Mass of the earth is : tee Jlb ¥ a1
6x10"" kg (D) 6x10°°kg (C) 6x10% kg (B) 6x10°' kg (A)

The ways by which transfer of heat takes place are : &P L e JEr|12

4 (D) 3 (C) 2 (B) 1 (A)
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Paper : 1 (Essay Type) (.;.)/u(g) GrlaanlaaD 1 - 24
Time Allowed : 1.45 hours uﬂ_ 64,2' & 145 =3
Maximum Marks : 48 ( PART -1 J?' ) 48 /gf

10 2. Write short answers to any Five (5) questions : : af O 4 /""’ L =iy (5) 5& = Jf il
(1) Define base units and derived units. -_él _gJ/.j v( j{‘ 320 ! u’}j Sobr (i)
(ii) Define positive and negative zero error of vernier callipers. -é@;&;bﬁﬁ%ﬂk]{&;ﬂﬁu (i)
(iii) Define prefixes and give two examples. & u:'t"» 15 sl é s—?{/‘? J,....&_e Sz (i)
(iv) Define velocity and write its formula. 2 ek § U1l g‘i: ..g_f/“’. (,( ()"‘U:‘ (iv)
(v) Convert 50 Kmh ™ 'to my!. & S ms! f 50 Kmh™' (v)

(vi) Define rest and motion. _“é i ur JY b s (Vi)
. . =z & Z, & e # .
(vi) Why rolling friction is smaller than the sliding friction? ?‘L Gsr sl / & u//’ ok X J’} y (vii)

(viii) Define centripetal acceleration and write its formula. _&JU/JUKJW »ijhefdu&uJMiﬁd}{ (viii)

10 3. Write short answers to any Five (5) questions : ? é.aw /""' L ey (5) ég & J/ -3

(i) Differentiate between like and uniike paraliel forces. -é’: fjb J/ 9 /u" uul/s.' LI st EY (i)
(i) Define torque and write its mathematical equation. ..&6 R (}L) 7y “f:/ i 7 u( b (i)
(iif) What do you mean by centre of gravity? e sl = C{_z’/‘/ NN (1T)

. . - .
(iv) What do you know about "G"? What is its value? (’c.l_gc:uj Su Uiz (pt[_, e L "G" (iv)

(v) Define artificial satellite. & i J T gl T (%)

(vi) Define orbital velocity and write its formula. ._ﬁé,.f’ {/; Uy 6 K M gif _.é'/;" d/ u"t!; ST (vi)

(vii) Define power and write its formula. =i P ¥ J1 sl 5{ .._gj/’f 24 (vii)

(vili) What is meant by the efficiency of a system? P = (j"";dfl d/ (i’/ u,...f (viii)

10 4. Write short answers to any Five (5) questi : caf Y 4 Ff L,-,wr (5) é}; & J:(

(1) Why strain has no unit? Give reason. \ @ -g_’_-/ b T sl <K g ()

(i) Define elastic iimit.
foi U6 o ol Ay (i)

(iii) Write down the formula of pressur e

(iv) Define latent heat of fusion. -é’f s-?j/J ;.,‘/ > J A (iv)
(V) What is meant by intern e sy Y < (5./'_’ (,/5‘3’ {v)
(Vi) What is the effect of temperature on evaporation? Se by Jt Lf § er 4 gﬂu;-;j' (vi)
(Vi) How does heat reach us from sun? e e - o " e Loy =7 (Vi)
(viil) Why does land breeze blow in the night? fe &lf u::.( = el S 5 (viii)

(PART - 11 ?1224>)
Note : Attempt any TWO questions. & ) 4 Lelly »e Jf O
4 5. (a) State Newton's first law of motion and -é_‘vLb:c.udu;‘l."‘»w:/:éuyuiﬁ'wGluir‘b/gf:.f ()
explain with the help of two examples. ’

5 L& SE Lol 100 e QI3 ALE F I 0.5 ms™ e Heded s ik (L)
(b) A train starts from rest with an acceleration of 0.5 ms ™~ ‘-‘Jx@fu’: kmh ™ %;Q/C[ e

Find its speed in fop /™) , When it has moved through 100 m?
6. (a) Define potential energy, give an _gfbla’:VJJl/;lé)J@',g BEAS YRS & AW ))
example and derive its equation. - _ L
5 (b) Find the magnitude and -< 5N s - Y usl 12N .&a‘){-x KU e l.'é.v’ulx‘ﬁfp(w:’gﬂ (<)
direction of a force, if its X-component is 12N and Y-component is 5N.
4 o i . ‘
4 - 7. (a) State Pascal's law and explain hydraulic press.-gf_fyujuu{{..@/g‘bﬂ_é ks Kf& ()
~E PSS L L VYRE 20°C 2 0°C 7 b L2 (L)
5 —e 2.5x107° g = der @it g el s
(b) Calculate the increase in the length of an aluminium bar 2m long when heated from )
0°C to 20°C . The thermal coefficient of linear expansion of aluminium is 2.5x10™ Kk~

111-021--(Essay Type)-140000
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PHYSICS (isF ) - 021 S5
Q. Paper : 1 (Objective Type) " PAPER CODE = 5478 (J}’u")/’ )I1: .;4,.3’:'
Time Allowed : 15 Minutes (o Sl) e 150
Maximum Marks : 12 LHR=G2-2! 12: AF

L:_J:Z.:/uc.L/:u:fbffé:&.V&d'ﬁ:gQ(@’ﬁ _uf{fé_;D » C'BA a@’ﬁgfzkédfr’/: Py
-(n/r;’w.‘,ﬂ:?uﬂu:ajﬂd/d;//z Jo¥ L i_/z;u:}bu&]c,ug ,Z:)/fc,uﬁgﬁt;@}uw&w

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Rate of doing work is called : DUt LS § S Sl
Momentum ("“"f (D) Power | (C) Torque it (B) Energy &/ (A)
Land and sea breezes are the result of : L £ G ff IRy, (5 2

Absorption 131 (D) Radiation cﬁ'd,éj (C) Convection ‘f{/ (B) Conduction f 27 (A)
The number of perpendicular components of a force are : - i:.&mw’" J u"“‘y/ S L }5 o’( 3
5 (D) 4 (C) 2 (B) 1T (A)

The density of ice is : ' @ . Y d oisla
-3 -3 -3 -3

800kgm > (D) 2700kgm™ (C) 920kgm” 1000kg m™ (A)

Which scientist observed that it - < sl Tei 2 i alfo S g oL ouLy’ |5

is easy to move or to stop light objects than heavier, .
Alberuni U1 (D) Einstein b7 (C) Gafjleosys (B) Isaac Newton FESIT (A

An interval of 200 4S is equivalent to : @u Lo Sl B ¥ 264, 20016
2x107°5 (D) ?S (C) 0.02S (B) 02S (A
Earth's gravitational force of ém\/r\ vanishes at : - Jlg 7 S 7 ﬁdg/ J o7
4}6{ 1000 Km (D) 4]’«'% 42300 Km (C) Infinity 4,UGwJU (B) {/"f:{ 6400 Km (A)
Which of the following is a vector quantity tes Ay i uf = Lo Jns 2142 |8
Displacement et (D) Power s (C) Distance J«i (B) Speed 4¥ (A)
In which state of matter molecules do not leave their : Z_b%’ufcﬁ){j&: !ﬂggtuﬁ&bduf&:t 9
position :
Plasma iy (D)  Gas u? (C) Liquid &L (8)  Solid u¥ (A)
The speed of geostationary satellite with respect to earth is © - e Ay O Y }:’”ﬁ;k@iuﬁ) 10
8kms™' (D)  10kmh™' (C) 10 kmS™" (B) Zero # (A)
Inertia depends upon : EF AA € 11
Velocity §1s (D) Mass UL (C) Netforce Jsd (B)  Force Us? (A)
Which material has large specific heat : Le Jb ¥ o =7 el S of |12
Mercury 6// (D) Water dg (©) Ice <« (B) Copper 4( (A)

112-021-1i-(Objective Type)-27000 (5478)
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Paper : 1 (Essay Type) ( ,:A//l/» ) G qia\.fh;\\) I 24
Time Allowed : 1.45 hours ANR-G 2-2] 145 0
Maximum Marks : 48 ( PART-1 Jil ») 48 : A
410 2. Write short answers to any Five (5) questions : oL =2 /‘"” Z =iy (5) ég o Jf -l
(i) Write afy four names of base quantity. -ﬂ rt L Ul d:yz. {.l'g %) df (i)
(ii) What do you mean by scientific notation? Give example. ) Je ‘e g gy .,Q}“ (i)
(i) What is meant by vernier constant? fe Sy l[ e 25 ﬁ.u (iii)
(iv) Differentiate between scalars and vectors. -“é (‘j ls J/ o~ J/'{; sl J/].'.”“/- (iv)
(v) Define acceleration and write its formula. _Zia U6 § Ut st .;if - /.’. J ﬁ)’g‘ (v)
(vi) Describe a vector by graphically method. -5";: F .‘é{)’ dQl// ALK /‘-..f: (vi)

(vii) Define force and write its unit. @ K “é /) $ uvd (vil)
(viii) What is meant by coefficient of friction? Also -gfytk&ﬂ ?c‘_)‘/gc; S P T&fd:‘f (viii)

write its symbol. - .
10 3. Write short answers to any Five (5) questions : é =12 /"' L =iy (5) ég & Jf -3

(i) What is meant by resultant force? feoly g < u’u’ <2 ()
(i) Define moment arm. -é .4_1/‘7 d/ rJT 2 ()
(iii) State the principle of moments. ok S S ST J-){ (iil)
(iv) What are artificial satellites? St Q{ u:’ :U'f’-" S (iv)
(v) What is meant by force of gravitation? fe slp Lf u’-ﬁjz/ JT__JJ:” (v)
(vi) What are natural satellites? (% tf u:" e Qs (Vi)
(vii) Define kinetic energy and potential energy. -_.é .,y/? M ‘::3__’ IRVl .@3( (vii)
(viii) How can you find the efficiency of system?  SUf = /'/O O..gal’k;.u;x,,u& ) d/ ("‘/ u’( (viif)

(i) Define density and give the density of water. Jk 5 J d_L, ! g‘g .,y/"' d/ ui’”‘j (i)

10 4. Write short answers to any Five (5) questions : =R /""' L =¥ (5) ég < (31( -4
ﬁ e ST (i)

(i) What is elasticity? e |
(iii) Define stress and give its unit. @ ..Zﬁg Lf( Y11 c’ﬁq ._g/? p( uf"/’/ (iii)
(iv) Define internal energy. &l »..{1/7 d/ G JE (V)
(V) What is meant by latent hea rization? S sl k[ < =7 J; d/ Jafbf-: (v)

(vi) What are the three way

nsfer of heat? Write their names. - ’gtf—uﬂ/’cf&@ﬂ/d@l (vi)
(vii) Define thermal conductivity. \ VoL

SRR )

(viii) Write two uses of convection currents? ..:?f JE1 9 Eil u""// J:g)"/ (viii)
( PART-IL (2.2 )
Note : Attempt any TWO questions. - CV Y 4 L ey »e G;( JE
4 5. (a) State and explain law of conservation of momentum. ..éytéwl"éf:/uguiﬁ'(ﬁuf(gf‘gr (W) -5
5 L Jb Lok 100 -e- A c,;ugjvéﬁkg[_ 05ms 2 e o sLl (&)
(b) A train starts from rest with an acceleration of 0.5 ms e ?Jﬂ\ﬁj: kmh ™ é{&):/‘p’

Find its speed in kmh'I , when it has moved through 100 m?

4 6. (a) Define equilibrium. State and explain -g{yt’awb@fgﬂ}ﬁd}—:jdfg' -gi:u_e}/.’.‘!é/d:gl () -6

first condition of equilibrium. .
5 - 4000 N ¥ 5 Qv AU e 3S T dp2HS Ams™ 2 ()
(b) A motor boat moves at a steady speed of 4ms™" . Water resistance Véfz/ ")LVJ)_L‘ J J lﬁu’ f
acting on it is 4000 N. Calculate the power of its engine. )
4 7. (a) State Pascal's law and derive an -éﬁlav,u.,{!uifvdujgg,;uul ;éug.uimf'g (W) 7
equation by using hydraulic press. L g ’ . )
L Lot dUS b L YpIE 20°C 2 0°C S ()
5 e 25x107° K7 I IR QT ar THC
(b) Calculate the increase in the length of an aluminium bar 2m long when heated from
0°C to 20°C . The thermal coefficient of linear expansion of aluminium is 2.5 x1 0~ kL.
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PHYSICS (V) - 019
Q. Paper : I (Objective Type) PAPER CODE = 5475 (J)U:"/" )I1: .;4.,}!,/
Time Allowed : 15 Minutes s Jlky) e 151 =

Maximum Marks : 12 LIL/B - (~ " - /a' 12: AF

L..J:Z..-/uc.u:u:/'béé)&trédlrﬁ { QK L}'ﬁ -u_‘:fc_-JD #CBA ;Uﬁ.‘fzké:dlrﬂ e
-(xzr;’ﬁ.fizozﬁgﬁ:—/fgf'c& oK L L/Q',/u,ﬂmy;ug -’é‘:/:.wfgfctfo}b}h‘?&lbf
Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.
Newton's first law of motion is valid only in the : c‘_mew’u’ruilf‘a,zﬁJgu:&grj J‘f =y J_ s |1 -1
absence of .
Momentum (’-"r (D) Friction ui;’ (C) Net force Ju.’.»j (B) Force 7 (A)
The range of clinical thermometer is : . Jyz i}z J /‘fr} L)K._u*lf ..g 2
35 °C-42 °C (D) 30°C-42°C (C) 25°C~42 °C (B) 20°C-42°C (A)
Speed of light is : s ‘3,« i J (}%/ 3
3x108ms™ (D) 3x10%kms™' (€)  2x10°ms” 2x10° ms™! (A)
Cheetah can run at a speed of : I e k¥ O --- |4
80 kmh™' (D) 70 kmh™ (C) 60 kmh<\O 50 lanh“‘ (A)
The work done in lifting a brick of mass 2kg ~ : b’n..ﬂ:‘.f@u }dﬂ.d/ 5m c,d-‘.').::w..l.._ﬁJﬂ/}K» 5
through a height of 5 m above ground will be : %5
100J (D) 504 (C) &\ 10J (B) 2.5J (A)
In gases, heat is mainly transferred by : &; i ¥ o7 Jli‘l 7 sbJ o /,[ 6
Conduction (B) Molecular collision % ,}()ZQ L (A)
Radiatjol 04, (D). Convection S (C)
S.1 unit of momentum is : N . Le LY dr Ay (“?r 7
Kgms™' (D) Kg m’'s (B) Kegm™'s™ (A)
The number of perpendicular components . : ‘g.amlp"'g,( u’ﬁ;{d;fﬁ Lus9) /'.(w’( 8
T
4 (D) 25 2B 1 (A
Moon is ------ km away from the earth : ¢ 3/» J 7 F o = 09 4l 9
4,80,000 (D) 3,80,000 (C) . & #B) 1,80,000 (A)
Generally faces of Leslie's cube are : N 'guj dﬂ u.‘.’b/ J g).{/ $2 4 e 10
6 (D) 5 (C) 4 (B) 3 (A)
The least count of digital vernier callipers is : D e b 225K e /':‘-‘-f Fs FF 11
0.0001 mm (D) 0.001 mm (C) 0.01 mm (B) 0.1 mm (A)
S.1 unit of pressure is Pascal which is equal to : ©3 ‘gt'n/.'/.gf’&.g -‘cgﬁgb‘rgb’/ﬂ{gﬁﬁ/‘lﬁl 12
10> Nm™ (D) 10> Nm™ (C) 1 Nm™?  (B) 10* Nm™ (A
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Paper : I (Essay Type) (v-a) ikr) Golaaulaa) 1 - 24
Time Allowed : 1.45 hours LHZ 4) pe= 9 a8 /? 145 0 =
Maximum Marks : 48 ( PART-1 3 2) 48 : /J/

10 2. Write short answers to any Five (5) questions : : 2 O 4 /3 L ey (5) ég = Jf o
() What is meant by base quantities and base units? eV < Jb'z sl ool Usiir Solx (i)

(i) Define scientific notation. -é _gf/.’. d/ ‘f?;’ G (i)
(iii) Write four name of laboratory safety equipments. .z¥ rt L =7 uﬂ' (Pg s 2y 2 S (i)
(iv) Define terminal velocity. -é .,g/". u( o" Uy J=2 (iv)
(v) Differentiate between vectors and scalars. e J/ Y oA IAC 2! /'}-(.; (v)
(Vi) What is meant by breaking and skidding? < oty V< '.fi.ﬂ s S, (vi)
(vii) Write two methods of reducing friction. 4 2’.} wl i S f ' gf‘;’ (vii)
(viii) Define centripetal force and write its formula. -:’f Urslisl & _,u/ J JJ! S A& (viii)

10 3. Write short answers to any Five (5) questions : é@ /9' L =y (5) ék = Jf o
(i) What is meant by unstable equilibrium? ‘e olr e B LirGs i)
(ii) Whatis difference between like and unlike paral @?&iﬁ e I/ //:U’/s LT 5 Y (i)
(iii) How the mass of earth can be determm& e v b Y r:"" LA (_/ JUE & (i)
(iv) Define field force. S v
<.l>umt. @b ASI e U sl ed § e (v)
‘e = Goren (i)

(v) write the value of 'G' and wri
(Vi) What do you mean by }i

and write its equation. -é = Il J J1 sl c‘f ..nl/" d/ iyl J;'f:’ (vii)

(Vii) Define potential ener;

(viii) Define power and write its S.| unit. @b .r;‘ S & Ut sl Z: J/" J sk (viii)
10 4. Write short answers to any Five (5) questions : : z¥ ez A L oy (5) ég P F

(1) State Hooke's Law. & Uk 0¥ o ()

(i) State Young's Modulus. -é vk ;f:i}‘ ,C; (ii)

(iii) Define density and elasticity. -é/ ..g/:" J u"‘" ! sl (§ :'3 (iit)

(iv) Define latent heat of fusion. - .2;;r - /‘.’. J = N7 d{ L«( 51,1’{ (iv)

(V) Differentiate between heat and temperature. -2.':( Uk J/ U £ ,é-/,j s a7 (V)

(i) Define thermal conductivity of a substance. -i-/ _g/." J & zfcf‘/ J} J < (f( (vi)

(Vi) What is difference between land and sea breezes? -Z'-.( ok 3/ U £ g f-J s Sz f-J (vii)

(viii) Write two uses of good conductors. L@ JE-1 5 )/}f &1 (viii)

(&1 3s)



Lo [HE Gi-§- 19

. (2)
(PART - II (3.)

Note : Attempt any TWO questions. & ez L ety »e 3 e
4 -é prI eI &1 J =7 < 4 J .:-!f('e -4xr () 5
5. (a) Derive first equation of motion with the help of speed-time graph.
5 Jf'df‘:.’u;g-éd_bicé{& 3 ms™! ufe/'bé‘ﬁé/ 50 cm J?)égjlﬂ/:( 0.5 ()
?Jna/:/"d/dj}

(b) How much centripetal force is needed to make a body of mass 0.5 kg to move in a circle of
radius 50 cm with a speed 3 ms™'?
for

4 6. (a) State and explain the conditions/ equilibrium. ~Z= =2(5s sl é Wk B17 g (J/d,f () -6

-< 4000 N J?/JJJJQJ’:LIJ?J’ -4.8/&0;4{&:@’ dms”’ -‘«:.'/'r'..{' (&)
5 Z AL

(b) A motor boat moves at a steady speed of 4 ms~". Water resistance acting on it is 4000 N.
Calculate power of its engine.

4 L1 V=Vo (1+ BAT) ._.,&50 1o ST Qe () L7
7. (a) Define volume thermal expansion. Derive the =Vo (1+ BAT) |

-etlx 11.4N u;,mi%@d&fwg - 18 N it ki ()

5 @wf LIS pERTY e
(b) An object has weight 18 N in air\Its)weight is found to be 11.4 N when immersed in water.
Calculate its density. Can ss the material of the object?
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ﬁh..,'z:—a)cu:u:/’béé.)é’.VLJV/{QKQL? ..u_‘cf{,.:D s C'BA :«Uit.;@k&d'rﬂ O
Gl N2 a it SESL SN | LSS s P ki s e PSS i3S

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Law of Inertia is known as e el w96 ¥ A1 1

Second law of motion J#F l/»KJr (B) First law of motion uysu,;wr (A)
Momentum (‘*‘?‘ (D) Third law of motion /96126 (C)

Water freezes at fe bl & 2 £ ,Z:;,} g d‘t' 2
0°K (D) -273K (C) 32°F (B) 0°F (A)

The Einstein's mass-energy equation 'C' is the : e S A6 'C U el GO J JegT|3
Speed of light 4+, (B) Speed of JedinT (A)
Speed of earth éfd,ub (D) Sp?\et@lectron V(c}:/"al (C)

Cheetah can run at a speed of : &&{) - CC - ,w ‘f be 14
80 kmh~' (D) 0kmh™ (C) M@‘ 50 kmh™' (A)

One horse power is equal to : fee by sl sl J4 .{l 5
748 W (D) 746 W @(&? 745 W (B) 744W (A)

Radiation is the mode : 98[1:6’ 98/ :

OV o /y,fd/,:a,imqg@ _«JV!JB";/“U»/ 6
T

of transfer of heat from one place to in the form of waves g ', n,z‘ i
e 1 (e 3
Transverse waves 075017 (B) i L ot = R4S, A.)w
Electromagnetic waves Jg»@?,/?! (D) - ; o i f'_ §F : g)
Coefficient of friction between tyre and wet road is : = :“‘ R N '- e e A o /ﬁ 787
- PO L W T A SO L e i
0.4 (D) 0.3 (C) 0.2 (B) 0.1 (A)
Value of sin 30 is : P od J sin 30" |8
0.866 (D) 0.707 (C) 0.5 (B) 0(Zero) (A)

The value of 'g' at a height one earth's radius above the + & (szSakslsdl Rbal 2 Jc.,ufj(k;:—g § gl
surface of earth is :

7¢ © 3¢ © 3¢ ®) 29 (A)

Thermal conductivity of wood is ° P& d’_:ffﬂ J} J o’ﬂ 10
0.09 Wm™ 'K~ (D) 008 Wm™'K™' (C) 0.07Wm 'K (B) 006 Wm'K (A)

One litre is equal to : % P Vel L1111
1m (D) ldm® (C) lem® (B) L mm® (A)

Density of ice is : . G’”:‘,? J <212
930 kgm™ (D) 920 kgm™ (C) 910 kgm™ (B) 900 kgm™ (A)

112-019-ll-(Objective Type)-25750 (5476)
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10 2. Write short answers to any Five (5) questions : oL O 4 /3 L ey (5) é& &= Jf -l
(i) Define physical sciences and biological sciences. -é -7 /“’.J /‘l«ff:’f (7] /"VJQ/’ (i)
(i) What is meant by physical quantities? Give two examples. -Zﬁ':u:jt‘z» ?%.:yﬂ_ffc;uulﬂgf-‘b (i)
(iif) What is meant by prefixes? e s U /gd{ (iii)
(iv) Define velocity and write its S.1. unit, Ja <Y S K U sl é ...g/‘." J L‘f Us (iv)
(v) Define vibratory motion and give its example. B ) J& sl ’Zg .ag/"" J Jr‘ Sril (v)

(vi) State Newton's third law of motion and write two examples.-é ugﬁwul Z: G~ ch‘r&-fﬁ (vi)
(vii) What is meant by tension in a string? fe sly Lf F-3 uﬁ“ e Sl (vii)
(viii) Define co-efficient of friction and write its equation. @l c:J:l/J .,y/.‘.d/u.};’._’f.ba’d’_ fy (viii)
10 3. Write short answers to any Five (5) questions : : @ 12 /‘? L =iy (5) ég = J/ -3
(i) Why are vehicles made heavy at the bottom? O{& O‘-'u_{ (31.0 ‘f: St U < {, /% 20
(i) What is meant by neutral equilibrium? %@% fe sl = EAGE Ui (i)
P> W e s G
9§_g_~,§J'g'{Z;/,,ug (iv)
‘e U LG s g (v)

(iii) What are the natural satellites?

(iv) What is the value of 'g" at moon 2
(V) What is difference betw
(Vi) What is the secondame of solar cell and how is it made? e G d__/ - 2 ‘ay’(tl/»&}f/r (vi)

(vii) Define energy and write its S.} unit. & YSI KU ) § g (vii)
(Vi) On which factors, work depends? ‘e tr 4 S uf A K s (viii)
10 4. Write short answers to any Five (5) questions : 2 =iz & £ wir (5) 4 = §f _a

(i) State Pascal's Law. “ZE koK FL ()
(i) State Archimedes Principle. ..’é Uk Jr1 ¥ JJ«:“'J' (ii)
(iii) Define elasticity and stress. -é _gj’. g,( d/’ 7l ml (iii)
(iv) Define lower and upper fixed points. ..2.{ _.93/". J uf’ l;’ 48 47 7 (iv)
(v) Write two applications of thermal expansion. & G £ sd (JA) dz (v)
(vi) Define conduction. -é .—g_l/‘.’. J uﬁf g (vi)
{vii) Define convection. -é ..g/"' J ﬂ/ (vii)
(viii) Define radiation. & 7§ sk wiii)

(ﬁ’ JA)
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Note : Attempt any TWO questions. & ez L ety we 3 :u)
4 P"—;ﬁ =F S s E S e d iSRRI T () s
5. (a) How can you relate a force with the change of momentum of a body and
prove that : ! —_Pi =F
—e Bl Ptz L 2ms™ Lo dnde o 532K 80 (L)
5 St S Pokr SE 3K 20 o1

-1 -2
(b) A train slows down from 80 K A with a uniform retardation of 2 ms

-
How long will it take to attain a speed of 20 Kmh™ ?

4 - ~Zeo Ul S 2 FSEISET (L) 6
6. (a) Define equilibrium and explain its three states.
5 “ZE Pt e Pe bt 6m 1 @ 200 kg ikl (o)

(b) Calculate the power of a pump which can lift 200 kg of
through a height of 6 m in 10 seconds. <&

< ‘
4 e dedrt, @; AL ey () L7
7. (a) Define specific heat. How would you fi speciﬁc heat of a solid?
5 3§ 20N dui/ 10 mm 2LL80 e gt Suiber i ()
S il
(b) The head of a pin i re of side 10 mm. Find the pressure on it
due to a force
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